
 
e.54

 

 
e.45

 

 240 

 
i.5

4 

Silencer clamp
Cod.303396501

Aluminium spacer 
Cod.204676

S.S. Muffler
Cod.309736485U

2 Plain washer 8x17
Cod.200294

Allen screw M8X50 
T.C.Z.B. 
Cod.200461

Allen screw 
M8X20 T.C.Z.B. 
Cod.200722

Pipe N°1094
Cod.3014034201

Strap-in Stainless
steel Ø45
Cod.300045530

2 Knurled nut M8
Cod.200298

S.s Bracket
Cod.206325

Allen screw M5X6 
T.C.Z.B. 
Cod.201044

Short helical 
spring tensile
cod. 304982002

DB-Killer Ø25
Cod.303457801

 90 

ART. 3384BU

HONDA CB 500 F - CBR 500 R 
(do not fits with original centre stand)

SLIP-ON   GP CORSA   BLACK EDITION 


	DT-3384BU
	Vista del disegno1
	Vista del disegno5


